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Brian Murray, EE506 Assignment 2015, Question 3

Setting the parameters:

h = 6.62x1073%;

v = 0.85;

Pagm = -3;

T, = 300;

R, = 50;

As = 20x10°;

c = 3x10%;

e = 1.6x1071%;
k = 1.38x107%%;
A = 1550x107%;

Formula for converting power in watts to power in dBm:
Py = 10100 /3000;
= Question 3.1

Calculating the signal-to-noise ratio in a linear scale:

" (555)" (2w)? |
(2e (5555) (Bw) + 22) (a0)

28218.9
Calculating the signal-to-noise ratio in dB:
Pap = 10 LoglO0[%]
44 .5054
= Question 3.2:
Setting the new temperature in kelvin:
T, = 273.15;
Calculating the signal-to-noise ratio in a linear scale:
o[ () @
(2e (7555) (Bw) + £57) (A0)

29991 .9




Calculating the signal-to-noise ratio in dB:
Pag = 10 Logl0[%]
44 .77
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